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General Instructions to the Candidate :

1. This question paper consists of 38 questions.

2. Folloew the instructiéns given against the questions.

3. Figures in the right hand margin indicate maximum marks for the
questions. '

4. The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the questian paper.
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Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 8x1=8

1. The maximum number of zeroes of a quadratic polynomial is

(A) 4 (B) 1

€ 2 (D) 3

2. The volume of a sphere of radius 7’ units is .

(A) % nr cubic units
4 3 . .
(B) 3 cubic units
3 3 . .
(C) 5T cubic units
3 3 . .
(D) il cubic units

3.  If the nature of the roots of the quadratic equation

ax2 + bx+ c= 0 is ‘real and distinct’ then
(A) a?-4abc>0 B) b2 -4ac=0
(C) a?-4bc=0 (D) b2 -4ac>0
4. If secA= l , then the value of cos A is
J3

J2 3
(A) 3 (B) )

3 1
C) — ) s
(C) 5 ( ez,
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- In the Arithmetic progression x, 21, 18, ..... the value of x’is

(A) 24 (B) 23

© 18 (D) -3

x+ 2= &y and 2x + 4y = c, are pair of linear equations. If

2c, #¢, then the equations have

(A) one solution (B) two solutions

LLOS-ONVNN

(C) infinite solutions (D) no solution
The prime factors of 91 are

(A) 2,13,7 (B) 13,7

() 91,1 (D) 13,7,1

In the given figure, OP L AB. The length of ABis

P 4cm

. .
<3cm @)
[vs]

(A) 8cm (B) 6cm

(C) 7cm (D) 5cm

MAND-5011 [ Turn over
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II.  Answer the following questions : 8x1=8

9. L.C.M. of 24 and 36 is 72, then find their H.C.F.

10.  Find the roots of the equation : (x-1)(x+3)=0

11. Write the formula to find the volume of the frustum of a cone
having its circular base radii r, and r, and height ‘"

12.

Find the sum of zeroes of the quadratic polynomial

P(x)=x2+7x+10.

13. In the figure, | PQR = 90°, then find the value of :(‘)’; }; .

P

aal 13

Q
14. A square based prism die whose each rectangular faces are

numbered 1, 3, 4 and 6 is rolled once. Find the pProbability of

getting number 2 on its top face.

PPT-1022 MAND-5011
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1s. A ABC ~ A PQR. If the area of A ABC is 49 cm?, AB =7 cm and

PQ = 9 cm then find the area of A PQR.

16. If sin (90° — A) = cos 60°, where A is an acute angle, find the
value of A.

Answer the following questions : 8x2=16

17. Prove that7 + Jg is an irrational number.

LLOS-ONVW

18. Find the roots of the equation 3x2 - 6x + 2 = 0 using ‘quadratic
formula’.

19. Solve the following pair of linear equations by Elimination

method :
4x+y = 15
x+y =26
20. Find the sum of first 20 terms of the Arithmetic progression
o
4, 9, 14, .... using formula. Lay 'Y
!
OR fe
e
2‘40' s‘x" !

-«
e

Find the sum of the first 40 positive integers divisible by 6. - . }
. - - . ' V
21. Find the coordinates of the point which divides the line ségment

joining the points (1, 5)and (-4, 0)in the ratio 2 : 3. '/)c,.,,, (4.

3 3 :
MAND-5011 Hayxé ’?‘; [ Turn over;:
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22. If P(A)= % then, show that P(A) # %
23. Draw a pair of tangents to the circle of radius 3-5 cm which are
inclined to each other at an angle of 70°.
24. Find the value of : <08 45° . sin 45°
sec 30° - cot 60°
OR
v . (S0 L LA
IV. Answer the following questions : 9x3=27
25. Divide p(x)=3x® +4x? - 11x+35 by g(x)= x2 -~2x+ 3 and
find the quotient [ g ( x) ] and remainder | #(.X) )
OR
Find a quadratic polynomial, whose sum and product of its
zeroes are — 3 and 2 réspectively and also find the zeroes of this
polynomial.
26. Prove that “The lengthé of tangents drawn from an external point
to a circle are equal”.
Construct a tﬁangle ABC with sides AC = .8 cm, AB =5 cm and

27.

BC = 6'5 cm. Then construct a triangle whose sides are %— of the

corresponding sides of the triangle ABC. Jel
(20 wo

MaND 501
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\ 28. Find the mean for the following data by direct method :

|
- R
Class-interval Frequency
2-6 4
. 6-10 8
10-14 2
14 -18 1
-
- 18 - 22 5
“u
OR
Find the mode for the following data :
Class-interval Frequency
5-15 : -+
15-25 8
25-35 2
35-45 5 .
45 - 55 g |
104ty ’f’::
MAND-5011 RS [ Turn over
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29. A production yield per hectare of wheat of 75 farms of a village is

MAND-5011

given in the following data. Draw a ‘More than type’ ogive.

Production yield Number of farms
(in kg/ha ) ( Cumulative frequency )
50 or more than 50 75
S35 or more than 55 70
60 or more than 60 65
65 or more than 65 54
70 or more than 70 40
75 or more than 75 25
80 or more than 80 12
30. Find the area of a triangle whose vertices are A (=-S5 -1)

B(3, -5)and C(5, 2).

OR

The vertices of a squareare A(-1, -2),B(1, 0),C(-1, 2)
and D(-3, 0). AC and BD diagonals intersect at a point ‘O’ as
shown in the figure. Find the length of diagonals and the

coordinates of point of intersection of the diagonals.

A

B

| o

n
PPT-1022 MAND-5011
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31. In the figure, ABC is an equilateral triangle with sides 14 cm and

area 4943 "cm-"r . P, Q and R are the mid-points of the sides of the

triangle, If PQ, QR and RP are the arcs of a circle with centres B,

C and A respectively, then find the area of the shaded region and

|
! its perimeter. [ Take J3 = 17
|
|

LLOS-ONVIN
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32. A motor boat whose speed is 11 km/hour in still water takes
2 hours 45 minutes to go 12 km upstream then to return

downstream to the same spot. Find the speed of the stream.
OR

The sum of the reciprocals of ages of a person ( in years ) 3 years
ago and 5 years from now is %— Find his present age.

|

MAND-5011 [ Turn over - 1
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33. In the given figure, BC || PQ, AB'= 5 cm, PQ = 2 cm and

AP = 25 cm. Find the length of BC. Also

Area of A APQ -
Area of A ABC 4

B L]

Prove that

V.  Answer the following questions \\ 4x4=16

\N‘/ N

34. An Arithmetic progression consists of 51 terms. The 20th term

from the last term of this progression is 157. If the common ‘

difference is 5, then find the Arithmetic progression. Y
OR

The sum of 2nd and 4th terms of an Arithmetic progression is 22 ‘
and the sum of first 11 terms is 253. Find the Arithmetic
progression. If the last term of it is 67, then find the number of

terms of this progression. 1S
Ky

—
v '
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35.

36.

37.
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Find the solution of the given pair of linear equations by
graphical method.

2x+y = 8

x+y =95

Prove that “If in two tﬁ;ngfés', corresponding angles are equal,
then their correspon;:liﬁg sides are in the same ratio [ or
proportion | and hence the two triangles are similar”.

The lighthouse [ AB] of height 1043 m stands vertically on a sea
shore. A tower [ CE ] and a ship | F ] are standing 30 m and 10 m
away from the foot of the lighthouse respectively. The angle of
elevation of the top of the tower from the top of the lighthouse is
30°. Find the height of the tower and distance between the top of
the lighthouse to the tbp of the tower [ AE |. Also find the angle of

depression formed from the top of the lighthouse to the ship.
E

B€«<10m-$F > C

MAND-5011 [ Turn over
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V1. Answer the following question :

38. A wooden solid is made by mounting a right circular cone on a
circular base of a cylinder as shown in the figure. If the height of
the solid is 45 cm, height of the cone is 15 cm and diameter of

the circular base of cylinder is 16 cm, then find the total surface

area and volume of the wooden solid.

1Scm

>
>

45 cm

MAND-5011
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